t-1, 3-Ci chl or opr opene
Response Ratio

O#] T T I

0 0.5 1 1.5
Concentration Ratio

Response = 6.171e-001 * Ant - 2.122e-002
Coef of Det (r”2) = 0.996960 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021
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2- Chl oroet hyl Vi nyl ether
Response Ratio

2. 2+

O#] I I I I I I

0 2 4 6 8 10 12
Concentration Ratio

Response = 1.449e-001 * Ant - 6.030e-002
Coef of Det (r”2) = 0.996705 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021
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Ci br omrochl or onet hane

Response Ratio

1. 34

O#] \ \ \ \ \ ‘

0 0.5 1 1.5 2 2.5 3
Concentration Ratio

Response = 4.494e-001 * Ant - 1.840e-002
Coef of Det (r”2) = 0.996441 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021



Styrene
Response Ratio

0 I I I I I I

0 0.5 1 1.5 2 2.5 3
Concentration Ratio

Response = 1.337e+000 * Ant - 3.599e-002
Coef of Det (r”2) = 0.999103 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021



Br onof or m

Response Ratio

O#] I I I I I I

0 0.5 1 1.5 2 2.5 3
Concentration Ratio

Response = 3.360e-001 * Ant - 2.253e-002
Coef of Det (r”2) = 0.998073 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021



Napht hal ene

Response Ratio

O#] I I I I I I

0 0.5 1 1.5 2 2.5 3
Concentration Ratio

Response = 2. 700e+000 * Ant - 2.482e-001
Coef of Det (r”2) = 0.994875 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA N net hods\ 82N070221W. M
Cal i bration Table Last Updated: Fri Jul 02 12:55:54 2021



